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JtiEE ALIREH LR ERALIRD —fRIRE 12 0.097 0.050 ~ 0.23
dtimE FLigm AL X 0] —RIRE 12 0.11] ( 0.045 ) ~ 0.19
JtimE FLIRHRIX AR - —RIRE 12 0.084| ( 0.021 ) ~ 0.15
itigE &IV B/ HARR —RIRE 12 0.085 0.036 ~ 0.21
dtimE &I BAHENER —RIREE 12 0.081 0.039 ~ 0.18
dtimE Fim BOHAER —RIRE 12 0.11 0.050 ~ 0.18
HEHE HHT RINERE —RIRE 12 0.085 0.049 ~ 0.16
BEHRR J\F INFINERB —fRIRE 12 0.11 0.043 ~ 0.26
EHRR J\F BENERB —fRIBIE 12 0.10 0.046 ~ 0.28
EFR BT EEEB —fRIBIE 12 0.072 0.037 ~ 0.12
EFR KT ENIE R —RIREE 12 0.084 0.042 ~ 0.14
EFR jt ;EHEHRD —HRIBE 12 0.11 0.056 ~ 0.18
EFR —Ft HiER —HRIBIE 12 0.10 0.051 ~ 0.21
BHE E T EHRE X PHH —fRIBE 12 0.075 0.039 ~ 0.20
BHE EHEHRE X R —fRIBIE 12 0.076 0.041 ~ 0.20
EHE K &) T —RBEARAER —RIRE 12 0.11 0.049 ~ 0.22
EHR i R R A ET EREER —RIRE 12 0.093 0.054 ~ 0.21
MEE BEH LAY —RIRE 12 0.13 0.051 ~ 0.30
Lz iR A Wi+ BHETH —RIRE 12 0.13] ( 0.045 ) ~ 0.23
[igA RHAH RHBEHR —RIRE 12 0.13] ( 0.048 ) ~ 0.28
EER A BARLLLAE —fRIBE 12 0.14 0.061 ~ 0.24
EER At FEB —fRIBE 12 0.14 0.063 ~ 0.23
EER LWhEH INGGEE )BT — AR 12 0.16 0.057 ~ 0.48
=52 LWhEH RS —RERE 12 0.15[ ( 0.051 ) ~ 0.37
EER LWhEH KRB —fRIBIE 12 0.38 0.076 ~ 28
EER BA EEE] —RIBIE 12 0.11 0.050 ~ 0.29
EER e REEREERTE — RS 12 0.096 0.055 ~ 0.17
RIE KFETH KERINB —RIRE 12 0.12] ( 0.021 ) ~ 0.28
377 B B i{& A —RIRE 12 0.13 ( 0.034 ) ~ 0.39
E3Y E= 1 TIEREER —RIRE 12 0.12f ( < 0013 ) ~ 0.23
E3Y B AT REERT —RIRE 12 0.11f ¢ < 0013 ) ~ 0.22
AR FEET BN —IRIRE 12 0.12] ( 0.044 ) ~ 0.28
AR RAH RATAREBERDE —RIRE 12 0.1 0.047 ~ 0.18
AR A KEFE —fRIRE 12 0.1 0.039 ~ 0.20
AR KERT BItREEA TS — —fRIBIE 12 0.11] ( 0.032 ) ~ 0.22
AR T alEEK —fRIBE 12 0.11] ( 0.035 ) ~ 0.21
BER AIHE™ AItER R —fRIBIE 12 0.14] ( 0038 ) ~ 0.36
BER =T hEAREE —HRIREE 2 0.13 0.08 ~ 0.18
BER =T 0 — RS 2 0.13 0.07 ~ 0.18
BER AHE™ KE—HB —RIRE 6 0.15 0.058 ~ 0.26
BER BET BEH—B —RIRE 6 0.16 0.060 ~ 0.33
HER EIES EIERR 1] — IR 6 0.16 0.057 ~ 0.31
HER B4 RPFE1—]BD —RIRE 6 0.15 0.052 ~ 0.30
BER SWVEFHIR BREAER —RIRE 12 0.16 0.076 ~ 0.39
BER SVEEMRER RERER —RIRE 12 0.11 0.056 ~ 0.25
BER SWVEEFHHRRK BERMZEHAETLII— — IR 12 0.11 0.059 ~ 0.27
BER SVEETUHFIR SWVEFEMEFTAIER — AR 12 0.11 0.059 ~ 0.27
BER SNEFTEHR EWAIER —ARIRLE 12 0.11 0.056 ~ 0.24
HER I NEGIES RG] —RERE 12 0.11 0.040 ~ 0.30
BER I N#EH = EE B —fRIBIE 12 0.11 0.037 ~ 0.29
BER EAh EaB —RERE 12 0.12f ( 0.08 ) ~ 0.17
BER EE NamZEER —fRIBIE 12 0.15 0.076 ~ 0.32
BER =k NEHEERNER —RIRE 12 0.16 0.084 ~ 0.36
BHER AR LERER —RIRE 12 0.12 0.065 ~ 0.27
BER AR RAURAIER —RIRE 12 0.12 0.045 ~ 0.25
HER hnZEth RERZERCE —RIRE 12 0.12] ( < 0.06 ) ~ 0.19
BER U EUAITC] —IRIRE 12 0.12] ( 0.07 ) ~ ( 019 )
HER FHEH EEELET —RIRE 12 0.12f ( 0.07 ) ~ 0.20
BER Bath HBAR —RIRE 12 0.1 0.046 ~ 0.22
FER FEHFRX BEF —fRIBE 12 0067 ( < 0.007 ) ~ 0.20
FER FEHFRX EJNIEEY —RERE 12 0.057| ( < 0.007 ) ~ 0.23
FER FEHRE FEHKER —ARIREE 12 0.033[ ( < 0.005 ) ~ 0.14
FER FEHEEX EEIYNE] —HRIREE 12 0052 ( < 0.007 ) ~ 0.22
FER BFh TBR BBk TF AT —ARIREE 12 0.14] ( 0.09 ) ~ 0.39
FER i mINEFED —RIRE 12 0.27 0.11 ~ 0.57
FER Mt miESIRE R — RS 12 0.18 0.087 ~ 0.36
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FER WwEth WFRARD —RIRE 12 0.25 0.13 ~ 0.52
FER R ET REMRED —IRIRE 12 0.21] ( 0.11 ) ~ 0.35
FER eI BRERD —RIRE 12 0.12] ( < 0.08 ) ~ ( 019 )
FER BiEm BEARB —RIRE 12 0.13[ ( < 0.08 ) ~ ( 022 )
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ESE FIX FINXEFEEER —RIRE 12 0.13 0.058 ~ 0.36
ESE wIEX RIERAE B —RIRE 12 0.13[ ( 0.05 ) ~ 0.32
E BEX BERAEFD —fRIBE 12 0.13] ( 0.05 ) ~ 0.34
E BIX BUREHHD —fRIBE 12 0.14] ( 0.05 ) ~ 0.35
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ITETE BLEHEET HHEAER —RIRE 12 0.28 0.14 ~ 0.63
ITETY XA KAAER —ARIREE 12 0.19 0.062 ~ 0.63
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RHR REM B'/HAER —RIRE 12 0.14 0.053 ~ 0.27
RHR AR AR —RIRE 12 0.18 0.055 ~ 0.36
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RHR FE 2 1 R G] —RERE 12 0.20 0.059 ~ 0.43
RER AT EE] —RIRE 12 0.20 0.059 ~ 0.46
REHER R EEC] —RIRE 12 0.24 0.11 ~ 0.43
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R [BETAKE | BK=RE— I FRIER —REE 12 0.12 0.046 ~ 030
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EIEL] KRHAH KFHERB — AR 12 0.13 ( 0.07 ) ~ 0.32
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FHIR HEETP/IR ERXAB —ARIREE 12 0.52 0.15 ~ 12
FHIZ AHEHAERX EmB —RIRE 12 0.18 ( 0.081 ) ~ 0.3
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ZER B FEESKAER —RIRE 12 0.46 0.088 ~ 2.1
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=88 EX3 ZERRATE —RIRE 12 0.15 0.081 ~ 0.31
ZER FEM PR EPER —RIRE 12 0.14 0.06 ~ 0.34
HER KigEth FEHEHREYA— — AR 12 0.12 0.035 ~ 0.26
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HER RiE™H RiER —fRIBE 12 0.16] ( 0.06 ) ~ 0.34
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RERRT AR EEBEELEEVI— —HRIBIE 12 0.15 0.054 ~ 0.29
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KBRAF KPR R X EESNIT] —fRIRE 12 0.12 0.038 ~ 0.26
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KBRAF B ENER —ARIRLE 12 0.15 0.086 ~ 0.27
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EER HMEMEER EEFHARKAER —RIRE 12 0.20 0.045 ~ 0.39
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EER HMEMEKE BEARARAER —RIRE 12 0.17 0.046 ~ 0.35
EER HMEMILRE EREBER —RIRE 12 0.18 0.036 ~ 0.32
EER HWEHEX BHAKAER —RIRE 12 0.16 0.038 ~ 0.35
EER JEEET J\RBIER —RIRE 12 0.27 0.052 ~ 1.3
EER el BABAFF & —RIRE 12 0.18 0.058 ~ 0.31
EEE AT KARFELII— —RIRE 12 0.15 0.059 ~ 0.27
EER wEh BENEAD —RIRE 12 0.15 0.072 ~ 0.27
EER MATH MRS —RIRE 12 0.20| 0.1 ~ 0.33
EER Zmh SRHERB —RIREE 12, 0.19 0.055 ~ 0.51
EER )il sz —RIREE 12 0.19 0.055 ~ 0.42
EER =@ ZHNEHAB —RIRE 12 0.15 0.099 ~ 0.25
RRE =R EERETPER — IR 4 0.16 0.066 ~ 0.22
=RR REM BEHAKERAER —RIRE 12 0.14 ( 0.003 ) ~ 0.23
ERE KFEBLLTH ERLLERFNF K15 —RIRE 12 0.13[ ( 004 ) ~ 0.20
=RE KEH RERF —RIRE 12 0.12| ( 0.03 ) ~ 0.19
Mg [fFrm RAEHEA — IR 12 0.14 0.052 ~ 0.26
MIRLE FFPLH RIS TV —RIRE 12 0.14| ( 0.030 ) ~ 0.28
MIRLE BEh BEATERE —RIRE 12 0.16] ( 0027 ) ~ 0.65
MIRLE HHET AHNTNBEARER —RIRE 12 0.17] ( 0029 ) ~ 0.74
BRE BERM BEREBRRETE —RERE 12 0.093 0.052 ~ 0.18
BRE KFH BREXFREFRR —RIRE 12 0.096 0.040 ~ 0.21
BLE BEm BRRAERENR —RIRE 12 0.095 0.034 ~ 0.19
BIRR T RN —RIREE 11 0.16 0.042 ~ 0.30
BRE T T ¥ ED —RIRE 11 0.15 0.036 ~ 0.29
BRE T EEHEHR —RIRE 11 0.17 0.043 ~ 0.32
BRE [RIEERRIRDBET  |ERIBER —RIRE 12 0.16 0.059 ~ 0.31
FE LR fE LT AL R BRI/ —RIRE 12 0.12 0.035 ~ 0.20
] LR i LT R X RN —RIRE 12 0.12 0.033 ~ 0.22
FE LR BHH BERENR —RIRE 12 0.18] ( 0.062 ) ~ 0.38
LR I EZERRB —RIRE 12 0.12] ( 0.008 ) ~ 0.29
FEILR EHmH BEXSBER —ARIRLE 12 0.13 ( 0.008 ) ~ 0.37
[T A EERRBER —ARIREE 12 0.12f ( 0.009 ) ~ 0.27
LER LS FONEREIER —ARIREE 12 0.17 0.032 ~ 0.60
LER LRETRIERR RIEFREFAIER —ARIREE 12 0.16] ( 0023 ) ~ 0.49
LBR am BRNERBD —fRIBIE 12 0.19 0.076 ~ 0.42
LBR &am BHE/NERE —IRIRE 12 0.19 0.087 ~ 0.41
SR [T BINERD — IR 12 0.14 0.043 ~ 0.33
LEBR [T WIKINER B —RIRE 12 0.15 0.067 ~ 0.40
LBR RIL&™ RIEBTEE/NERR —RIRE 12 0.13[ ( 0024 ) ~ 0.34
[IN=]-1 TR TEHRFRRD —RIRE 12 0.23 0.085 ~ 0.55
[IN=]-1 FEpH FEHHRDINSHNEIE— —fRIRE 12 0.25 0.085 ~ 10
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=Y At AmT&R —RIRE 12 0.66 0.092 ~ 1.3
T [CTE [CEE] —RIRE 12 0.54 0.075 ~ 37
[T Pl KinB —RIRE 12 0.16 0.078 ~ 0.31
EJT S BMHARIZIZ TR~ —RIRE 12 0.16 0.043 ~ 0.62
EIILE] hEh ABHEAD —RIRE 12 0.28 0.12 ~ 0.82
FNR R RHT&RAD —fRIRE 12 0.28 0.13 ~ 0.77
ZER AT BARR —fRIBE 6 0.18 0.046 ~ 0.33
FIER FHET ERE ] —HRIREE 12 0.084] ( < 0.007 ) ~ 0.28
BER HEET Y REHEHFT —fRIBIE 12 0.060[ ( < 0.007 ) ~ 0.18
B SRS TRE —fRIBIE 6 0.13 0.055 ~ 0.32
T i HER —HRIREE 6 0.16 0.055 ~ 0.38
T Al AREEERE —RIRE 12 0.18 0.035 ~ 0.39
1ERE R FEAMEERR ESN B ] —ARIREE 12 0.29 0.084 ~ 1.1
1ERE R FEAMENELR [dEAMBRBD —ARIREE 12 0.30 0.09 ~ 1.1
[ AT IEER |(DRESEE —RIRE 12 0.26 0.091 ~ 0.95
EEEY fBREHRE BB —RIRE 12 0.23 0.098 ~ 0.74
[ BRETESX B2 —RIRE 12 0.22 0.094 ~ 0.68
[ faREhRER R —RIRE 12 0.22 0.091 ~ 0.64
[ KEBT ERXERR(BEH) —RIRE 12 0.21 0.043 ~ 0.52
[EEL] BT Y] —RRE 12 0.13 ( 0014 ) ~ 0.51
EER BT EER —fRIBE 12 0.16 0.048 ~ 0.46
EER BREM KiEH —fRIBE 12 0.17 0.064 ~ 0.68
RIBR R NBXFE —fRIBIE 6 0.12 0.076 ~ 0.16
RIER REM HEAKBER —fRIBIE 6 0.20 0.087 ~ 0.43
RIGR S ] 5% 5ot B o ek 1 52 P —fRIBIE 12 0.25 0.11 ~ 0.72
EAR AT KiLH3RAT — IR 12 0.13 0.053 ~ 0.35
REXRER EXAH HARREHD —RIRE 12 0.12f ( < 0.02 ) ~ 0.31
KPR AHTH EFRERBER — RIS 12 0.13 0.029 ~ 0.27
KR i FEREFER —RIBIE 12 0.22 0.12 ~ 0.61
KR BA™ FEER R FT —RIRE 12 0.22 0.090 ~ 0.42
BIFR Bl BT EE —RIRE 12 0.11 0.030 ~ 0.20
BIFR R ERRRAD —fRIRE 12 0.12 0.052 ~ 0.25
HIRR BRH AL RS —RIRE 12 0.11 0.05 ~ 0.25
BRER BREM H&AD —RERE 6 0.12 0.026 ~ 0.29
BRER BEh BENRERELI— —HRIRLE 6 0.11 0.043 ~ 0.26
BRER T BER —fRIBE 6 0.10 0.046 ~ 0.26
EREE [GEeET mSOFEM&A —HRIREE 6 0.13 0.043 ~ 0.42
hRRIR T BEBH P RAE —fRIBIE 1 0.12 0.12 ~ 0.12
hRRIR o BHH —RERE 11 0.15[ ( < 0.010 ) ~ 0.47
hRRIR pgRT hREE —fRIBIE 12 0.16] ( 0035 ) ~ 0.56
IPRRIR T BMERERRFD —ARIREE 12 0.20] ( 0032 ) ~ 0.60
IPRRIR [ESEERIEEEES) [E 5830 F IR EL 14 R R E AR —RIRE 12 0.18 0.045 ~ 0.48
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EFR BEHW BEmIFREEYS— 12, 0.098 0.050 ~ 0.18
EFR &M BAHE—BRRER 12, (0.10) 0.046 ~ ( 0.24
AFR SALERE EBRT ERIT—RRR 12 0.086 0.039 ~ 0.14
ERE BEH BE-RBEAIAER 12 0.089] ( 0.004 ) ~ 0.18
FHR BB BEIBTH (MRIER) 12 011] ( < 0013 ) ~ 0.23
FHR #iET FRIEHS 12 1.4] ( 0.020 ) ~ 38
FHR #ET BT 12 0.15] ( < 0013 ) ~ 0.55
BER = EIXEBAR 12 0.12] ( 007 ) ~ 0.19
FER G hREEER 12 0.94] ( 012 ) ~ 5.7
FER R IBINERIER 12 0.49 0.12 ~ 2.1
FER G BRAER 12 0.18 0.047 ~ 0.54
FER Rm Bl R#ER 715 12 0.36 0.066 ~ 1.1
FER R 1 I E B 12 0.23 0.073 ~ 0.57
FER MR I\BBRIER 12 0.24 0.092 ~ 0.84
FER HWET WIERER 12 017] ( < 0.08 ) ~ 0.30
#wRIR |[RETBRR BREBEXRIITH 12 0.13 0.040 ~ 0.28
#wENR |[BEHPR hRAKB 12 0.13 0.026 ~ 0.31
FCEIN T )1 X ERIICE] 12 0.14 0.062 ~ 0.33
FCEIITY NN T 1B X REMRIE B 12 0.14 0.065 ~ 0.39
FEEIIY NN T 1B X it ERIE R 12 0.14 0.063 ~ 0.31
FCEIIY FEH I\BB/NERR 12 0.1 0.046 ~ 0.24
FRR it E3C] 12 0.12 0.047 ~ 0.21
FRR wEth KIER 12 0.12] ( 0.038 ) ~ 0.26
#; Eigh BEER 12 0.12 0.040 ~ 0.25
ik 2T ET) 12 0.1 0.046 ~ 0.21
EITEY =L [EEESEG] 12 0.20] ( 0.04 ) ~ 0.94
FHIR AT FEATEFF 12 0.29 0.046 ~ 17
BT [ZEETH ZERER 12 0.24 0.093 ~ 0.51
HER T KFEFHIEVE— 12 0.16] ( 0.05 ) ~ 0.34
KBRAF ABRHARIER FRINEEB 12 0.16] ( 0017 ) ~ 0.37
KBRAF KBRHERE BENEER 12 0.16] ( 0.021 ) ~ 0.32
KBRAF RKEM RKEHRFD 12 0.12 0.036 ~ 0.22
EER HETERER ECEDER ] 12 0.22 0.052 ~ 0.52
EER HERRTH IEER TR F Rk 12 0.16 0.034 ~ 0.47
EER mE NI BIFFR 12 0.21 0.058 ~ 0.44
EER FRAET FETRAD 12 0.22 0.13 ~ 0.37
EER BT BHTARERY TS 12 5.1 0.063 ~ 58
ELR 0 WIB 12 0.46 0.22 ~ 0.91
FELLIR 0 EEL] 12 0.19 0.1 ~ 0.49
FELLIR BHH BER 12 0.19] ( 0.056 ) ~ 0.39
[T 0 ZERYHE 12 0.18 0.1 ~ 0.47
FELLIR 0 C2AC] 12 0.30 0.1 ~ 0.63
i LR T BIRERLVA-B 12 0.17] ( 0072 ) ~ 0.35
=T LEETRERX [EETEE 12 0.16] ( 0.020 ) ~ 0.51
T LEBTRER EEEES 12 0.16] ( 0018 ) ~ 0.45
LEBR EETH B/NERB 12 0.15 0.044 ~ 0.37
LBR Fepit FHRhBELA—B 12 1.3 0.047 ~ 6.9
=T R AiraR2ERB 12 0.20 0.043 ~ 0.81
LBR LR AR A I S BT TEBETR 12 0.10] ( < 0021 ) ~ 0.23
[T HREFERL B AT EAET) 12 0.21 0.076 ~ 0.73
FIR R HEBR 12 0.28 0.1 ~ 0.76
FIR &I EhE B AT EBRRER 12 0.29 0.13 ~ 0.83
=R HEM ERRBYEECA— El%E FE 4R 12 0.13 0.043 ~ 0.26
iR {EHERS THERE El%E FE 4R 12 0.20] ( 004 ) ~ 0.45
BAR FREm FEEHLAERB El%E FE 4R 11 0.14] ( < 0.027 ) ~ 0.32
KRR (=4 FELEARE BEERER 12 82 0.25 ~ 50
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AR s AR wesm | e | O g EREUE/MD
tigE ALIRH P RK E1EEHR iE 12 0.11 0.034 0.24
JLiEiE AR RE FISTHEHS BE 12 0.11] ( 0.045 ) 0.17
tigE =MV i) iE 12 0.083 0.041 0.18
JLiEiE Fr NEIER ihE 12 0.12 0.053 0.18
EFR —Bh —BTm=RER BB 12 0.12 0.061 0.27
BHR WAETERR nER A 12 0.080 0.037 0.21
BHE WAEMRE HER iE 12 0.076 0.038 0.21
BEHE AE AIMEHEHHIAER A 12 0.10 0.049 0.23
AR e BFEHR B 12 0.10 0.060 0.22
E3 T EC TiAPHE ihE 12 0087 ( < 0013 ) 0.18
BER R FRBEKR i 6 0.15 0.058 0.28
BER SWVEEHER ZEaEER i 12 0.1 0.050 0.29
BER EViE EMmEREHR iE 12 0.14f ( 0.08 ) 0.36
BER FET FHEXABHE RE 12 0.13[ ¢ 007 ) 0.19
FHER FEHPRK FREMRR(BH) i 12 0.083] ( < 0.007 ) 0.30
FER FERERIIK EHAEHEHETA AE 12 0.071] ( < 0.007 ) 0.31
FHER wam TBRIER i 12 0.13 0.06 0.27
RRE IRK REEREFR A 12 0.14 0.06 0.34
R HEARKX ]R/GED/\IELE ihE 12 0.13 0.06 0.34
BRI |[BRTETR  |BTXEEm BE 12 013 0030 029
#ENR  |EETFERX FERXRZZAR A 12 0.19 0.079 0.35
#wENE  |FEE BENERD i 12 0.11 0.056 0.24
#wENR | KFH AHMTRRAXZERR B3 12 0.10 0.040 0.26
HiRR ELD WEBHE i 12 0.14 0.042 0.37
ESIES Fath FRHAER aBT 6 0.049( ( 0.024 ) 0.09
[TET BfFH EFEBHEHTAR IS 12 0.21 0.070 0.71
I BfFH EBEHEHIAB 12 0.19 0.061 0.68
REHR REH BEAR 12 0.14 0.053 0.26
RHR WA WAEXERR 12 0.24 0.12 0.41
FHRE IR BETEKR BHHBEAER 12 0.12 0.040 0.31
FHAE IR EMTHRX R-257IEH 12 0.13 ¢ 0075 ) 0.37
FRE IR =& EEEE) 12 0.13] ( 0.047 ) 0.44
BHIR SBERERR B AT REEHEFTARER 12 0.17 0.075 0.52
ZER BT EE23585HE 12 0.18 0.086 0.36
HER EE BHERR iE 12 0.13[ ( 0.05 ) 0.28
KIRAF RHRX PERERRB AE 12 0.16 0.077 0.31
KBRFF W WS EHHTD iE 12 0.15 0.080 0.27
KBRFF N AFER RE 12 0.13 0.032 0.27
KIRAF OB E R B3 BIR BT RIE B i 12 0.12 0.04 0.23
EER L BHER i 12 0.15 0.072 0.26
EER EEH BINERRB BE 12 0.19 0.059 0.37
EER e B i 12 0.30 0.13 0.82
=R R BHHERR i 12 0.15[ ( < 0.04 ) 0.27
[AEATTT E=F A HAHE A HIE AR BE 12 0.16[ ( < 0029 ) 0.64
CET) R REIXZERB i 12 0.096 0.061 0.16
EET KFH KRFHRAAD A 12 0.099 0.042 0.21
[EIE] HDEE R BET REXSAER i 12 0.14] ( 0.020 ) 0.30
LER =T HARILEIER AE 12 0.17] ¢ 0.020 ) 0.58
LBR ZRt ZREPRTB ihE 12 0.11f ¢ 0.029 ) 0.20
EETS meh BHESR i 12 0.15 0.077 0.29
BHER EEBLDET BPHEARTER i 12 0.18 0.031 0.39
(LS FEAMEH/BRR | FEARRTAIERT i 12 0.29 0.086 12
12 R EEATRERR BEHE BE 12 0.21 0.094 0.69
2R EIIE ) FEEHR i 12 0.14] ( 0.007 ) 0.52
RIFR Rig™ RBTHRREEDERHITAAER il 6 0.13 0.079 0.17
R {EtHRT BRAER R 12 0.16] ( 0.04 ) 0.32
AR REAT™ IKERTH i 12 0.13 0.054 0.34
EAR I\ I\RBEHR iE 12 021 ( < 0.04 ) 0.57
AHR BIFFTT JLERHRY TS BB 12 0.24 0.13 0.59
ERER EE)INT EE)INB BE 6 0.13 0.044 0.44
ERBR [WBRW BER i 6 0.11 0.045 0.30
ShER hET £TER i 12 0.18 ( 0034 ) 0.61
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